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* Panel Regressions: for the Paper “Banks During the Argentine Crisis: Were They All Hurt Equally? *

* Did They All Behave Equally?” Adolfo Barajas, Emiliano Basco, V. Hugo Juan Ramón, and       *

* Carlos Quarracino *

* Note that outliers for each of the bank fundamentals are excluded in all regressions *

*------------------------------------------------------------------------------------------------------------*
*Creating one-month lagged variables*

*------------------------------------------------------------------------------------------------------------*

sort bc time

by bc: generate caprone=capr[_n-1]

sort bc time

by bc: generate liqone=liq[_n-1]

sort bc time

by bc: generate profitone=profit[_n-1]

sort bc time

by bc: generate fddone=fdd[_n-1]

sort bc time

by bc: generate fpone=fp[_n-1]
sort bc time

by bc: generate fplone=fpl[_n-1]
sort bc time

by bc: generate npllone=npll[_n-1]

sort bc time

by bc: generate ngovbone=ngovb[_n-1]

*---------------------------------------------------------------------------------------------------------*

* Table 6 Regressions *
* Foreign Currency Operations by Argentine Banks *
*--------------------------------------------------------------------------------------------------------------------------*
* First,  run a set of  “Non-fundamental” OLS regressions in order to calculate the contribution of *

* fundamentals to explanatory power *

* Run “Non-fundamental” OLS regression for FDD *

reg fdd size private foreign curisk fiscal mervalnb if liqone<0.8 & depr<0.041 & fdd<1 & capr>0.01 & caprone>0.01 & npllone<1.01

* Define r2 for the “Non-fundamental” OLS regression *

local r2_nffddolscu = e(r2)
* Run “Non-fundamental” OLS regression for FP *
reg fp size foreign private curisk fiscal mervalnb if liqone<0.8 & depr<0.041 & fp<0.8 & fp>-0.8 & capr>0.01 & caprone>0.01 & npllone<1.01
* Define r2 for the “Non-fundamental” OLS regression *

local r2_nffpolscu = e(r2) 
* Run “Non-fundamental” OLS regression for FPL *

reg fpl size foreign private curisk fiscal mervalnb if liqone<0.8 & depr<0.041 & fpl<1 & capr>0.01 & caprone>0.01 & npllone<1.01
* Define r2 for the “Non-fundamental” OLS regression *

local r2_nffplolscu = e(r2)
*---------------------------------------------------------------------------------------------------------*

* Foreign Currency Operations by Argentine Banks *
xtreg fdd caprone liqone profitone ngovbone npllone size curisk fiscal mervalnb if liqone<0.8 & depr<0.041 & fdd<1 & capr>0.01 & caprone>0.01 & npllone<1.01, i(bc)fe
test caprone liqone profitone ngovbone npllone
reg fdd caprone liqone profitone ngovbone npllone size foreign private curisk fiscal mervalnb if liqone<0.8 & depr<0.041 & fdd<1 & capr>0.01 & caprone>0.01 & npllone<1.01
local r2_fddndolscu = e(r2)
display `r2_nffddolscu'/`r2_fddndolscu'
xtreg fp caprone liqone profitone ngovbone size npllone curisk fiscal mervalnb if liqone<0.8 & depr<0.041 & fp<0.8 & fp>-0.8 & capr>0.01 & caprone>0.01 & npllone<1.01, i(bc)fe
test caprone liqone profitone ngovbone npllone
reg fp caprone liqone profitone ngovbone size foreign private npllone curisk fiscal mervalnb if liqone<0.8 & depr<0.041 & fp<0.8 & fp>-0.8 & capr>0.01 & caprone>0.01 & npllone<1.01
local r2_fpndolscu = e(r2)
display `r2_nffpolscu'/`r2_fpndolscu' 

xtreg fpl caprone liqone profitone ngovbone npllone size curisk fiscal mervalnb if liqone<0.8 & depr<0.041 & fpl<1 & capr>0.01 & caprone>0.01 & npllone<1.01, i(bc)fe
test caprone liqone profitone ngovbone npllone
reg fpl caprone liqone profitone ngovbone npllone size foreign private curisk fiscal mervalnb if liqone<0.8 & depr<0.041 & fpl<1 & capr>0.01 & caprone>0.01 & npllone<1.01
local r2_fplndolscu = e(r2)
display `r2_nffplolscu'/`r2_fplndolscu' 
*---------------------------------------------------------------------------------------------------------*

* Table 7 Regressions *
* Government Financing by Argentine Banks *
*--------------------------------------------------------------------------------------------------------------------------*
* First,  run a “Non-fundamental” OLS regression in order to calculate the contribution of *

* fundamentals to explanatory power *
reg ngovb size private foreign curisk fiscal mervalnb if liqone<0.8 & depr<0.041 & capr>0.01 & caprone>0.01 & npllone<1.01

* Define r2 for the “Non-fundamental” OLS regression *

local r2_nfolscu = e(r2)
*--------------------------------------------------------------------------------------------------------------------------*

* Government Bond Holding by Argentine Banks *

xtreg ngovb caprone liqone profitone npllone size curisk fiscal mervalnb if liqone<0.8 & depr<0.041 & capr>0.01 & caprone>0.01 & npllone<1.01, i(bc)fe
test caprone liqone profitone npllone 

reg ngovb caprone liqone profitone npllone size private foreign curisk fiscal mervalnb if liqone<0.8 & depr<0.041 & capr>0.01 & caprone>0.01 & npllone<1.01

local r2_f1ndolscu = e(r2)
display `r2_nfolscu'/`r2_f1ndolscu'
xtreg ngovb caprone liqone profitone fddone npllone size curisk fiscal mervalnb if liqone<0.8 & fddone<1 & depr<0.041 & capr>0.01 & caprone>0.01 & npllone<1.01, i(bc)fe
test caprone liqone profitone npllone  fddone

reg ngovb caprone liqone profitone fddone npllone size private foreign curisk fiscal mervalnb if liqone<0.8 & fddone<1 & depr<0.041 & capr>0.01 & caprone>0.01 & npllone<1.01
local r2_f2ndolscu = e(r2)
display `r2_nfolscu'/`r2_f2ndolscu'
xtreg ngovb caprone liqone profitone fpone npllone size curisk fiscal mervalnb if liqone<0.8 & fpone<0.8 & fpone>-0.8 & depr<0.041 & capr>0.01 & caprone>0.01 & npllone<1.01, i(bc)fe
test caprone liqone profitone npllone  fpone

reg ngovb caprone liqone profitone fpone npllone size private foreign curisk fiscal mervalnb if liqone<0.8 & fpone<0.8 & fpone>-0.8 & depr<0.041 & capr>0.01 & caprone>0.01 & npllone<1.01
local r2_f4ndolscu = e(r2)
display `r2_nfolscu'/`r2_f4ndolscu'
xtreg ngovb caprone liqone profitone fplone npllone size curisk fiscal mervalnb if liqone<0.8 & fplone<1 & depr<0.041 & capr>0.01 & caprone>0.01 & npllone<1.01, i(bc)fe
test caprone liqone profitone npllone fplone

reg ngovb caprone liqone profitone fplone npllone size private foreign curisk fiscal mervalnb if liqone<0.8 & fplone<1 & depr<0.041 & capr>0.01 & caprone>0.01 & npllone<1.01
local r2_f5ndolscu = e(r2)
display `r2_nfolscu'/`r2_f5ndolscu'
*---------------------------------------------------------------------------------------------------------*

* Table 8 Regressions *
* *Deposit growth regressions with fundamentals at lags of 3, 6, 9, 12 months*

*---------------------------------------------------------------------------------------------------------*
*---------------------------------------------------------------------------------------------------------*
*Creating lagged fundamental variables*

*---------------------------------------------------------------------------------------------------------*

sort bc time

by bc: generate caprthree=capr[_n-3]

sort bc time

by bc: generate liqthree=liq[_n-3]

sort bc time

by bc: generate profitthree=profit[_n-3]

sort bc time

by bc: generate fddthree=fdd[_n-3]

sort bc time

by bc: generate fpthree=fp[_n-3]
sort bc time

by bc: generate fplthree=fpl[_n-3]
sort bc time

by bc: generate npllthree=npll[_n-3]

sort bc time

by bc: generate ngovbthree=ngovb[_n-3]

sort bc time

by bc: generate caprsix=capr[_n-6]

sort bc time

by bc: generate liqsix=liq[_n-6]

sort bc time

by bc: generate profitsix=profit[_n-6]

sort bc time

by bc: generate fddsix=fdd[_n-6]

sort bc time

by bc: generate fpsix=fp[_n-6]
sort bc time

by bc: generate fplsix=fpl[_n-6]
sort bc time

by bc: generate npllsix=npll[_n-6]

sort bc time

by bc: generate ngovbsix=ngovb[_n-6]

sort bc time

by bc: generate caprnine=capr[_n-9]

sort bc time

by bc: generate liqnine=liq[_n-9]

sort bc time

by bc: generate profitnine=profit[_n-9]

sort bc time

by bc: generate fddnine=fdd[_n-9]

sort bc time

by bc: generate fpnine=fp[_n-9]
sort bc time

by bc: generate fplnine=fpl[_n-9]
sort bc time

by bc: generate npllnine=npll[_n-9]

sort bc time

by bc: generate ngovbnine=ngovb[_n-9]

sort bc time

by bc: generate caprtwelve=capr[_n-12]

sort bc time

by bc: generate liqtwelve=liq[_n-12]

sort bc time

by bc: generate profittwelve=profit[_n-12]

sort bc time

by bc: generate fddtwelve=fdd[_n-12]

sort bc time

by bc: generate fptwelve=fp[_n-12]
sort bc time

by bc: generate fpltwelve=fpl[_n-12]
sort bc time

by bc: generate nplltwelve=npll[_n-12]

sort bc time

by bc: generate ngovbtwelve=ngovb[_n-12]

*12-Month Deposit Growth in Argentina regressed on different lags on fundamentals*
*---------------------------------------------------------------------------------------------------------*
xtreg agdep caprthree liqthree profitthree ngovbthree npllthree size curisk fiscal mervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01, i(bc)fe

test caprthree liqthree profitthree ngovbthree npllthree

xtreg agdep caprsix liqsix profitsix ngovbsix npllsix size curisk fiscal mervalnb if depr<0.041 & liqsix<0.8 & capr>0.01 & caprsix>0.01 & agdep>-0.5 & agdep<0.5 & npllsix<1.01, i(bc)fe

test caprsix liqsix profitsix ngovbsix npllsix
xtreg agdep caprnine liqnine profitnine ngovbnine npllnine size curisk fiscal mervalnb if depr<0.041 & liqnine<0.8 & capr>0.01 & caprnine>0.01 & agdep>-0.5 & agdep<0.5 & npllnine<1.01, i(bc)fe

test caprnine liqnine profitnine ngovbnine npllnine
xtreg agdep caprtwelve liqtwelve profittwelve ngovbtwelve nplltwelve size curisk fiscal mervalnb if depr<0.041 & liqtwelve<0.8 & capr>0.01 & caprtwelve>0.01 & agdep>-0.5 & agdep<0.5 & nplltwelve<1.01, i(bc)fe

test caprtwelve liqtwelve profittwelve ngovbtwelve nplltwelve
*---------------------------------------------------------------------------------------------------------*

* Table 9 Regressions *
* 12-month Deposit growth regressions with fundamentals at lag of  3 months*

*---------------------------------------------------------------------------------------------------------*
* First,  run a “Non-fundamental” OLS regression in order to calculate the contribution of *

* fundamentals to explanatory power *
reg agdep size private foreign curisk fiscal mervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01
* Define r2 for the “Non-fundamental” OLS regression *

local r2_nfolsagdep = e(r2)
*---------------------------------------------------------------------------------------------------------*
* 12-month deposit growth regressions with fundamentals at a lag of 3 months *

xtreg agdep caprthree liqthree profitthree ngovbthree npllthree size curisk fiscal mervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01, i(bc)fe

test caprthree liqthree profitthree ngovbthree npllthree
reg agdep caprthree liqthree profitthree ngovbthree npllthree size foreign private curisk fiscal mervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01
local r2_f1olsagdep = e(r2)
display `r2_nfolsagdep'/`r2_f1olsagdep'
xtreg agdep caprthree liqthree profitthree ngovbthree npllthree fddthree size curisk fiscal mervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01, i(bc)fe

test caprthree liqthree profitthree ngovbthree npllthree fddthree

reg agdep caprthree liqthree profitthree ngovbthree npllthree fddthree size foreign private curisk fiscal mervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01
local r2_f2olsagdep = e(r2)
display `r2_nfolsagdep'/`r2_f2olsagdep'
xtreg agdep caprthree liqthree profitthree ngovbthree npllthree fplthree size curisk fiscal mervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01, i(bc)fe

test caprthree liqthree profitthree ngovbthree npllthree fplthree

reg agdep caprthree liqthree profitthree ngovbthree npllthree fplthree size foreign private curisk fiscal mervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01
local r2_f3olsagdep = e(r2)
display `r2_nfolsagdep'/`r2_f3olsagdep'
xtreg agdep caprthree liqthree profitthree ngovbthree npllthree fpthree size curisk fiscal mervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01, i(bc)fe

test caprthree liqthree profitthree ngovbthree npllthree fpthree

reg agdep caprthree liqthree profitthree ngovbthree npllthree fpthree size foreign private curisk fiscal mervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01
local r2_f4olsagdep = e(r2)
display `r2_nfolsagdep'/`r2_f4olsagdep'
*---------------------------------------------------------------------------------------------------------*

* Table 10 Regressions *
* 12-month Deposit growth regressions: Interaction of Bank Fundamentals with  *

* Macroeconomic Variables
*---------------------------------------------------------------------------------------------------------*
*-----------------------------------------------------------------------------------------------------------*

* Creating Interaction terms between bank fundamentals and macro variables *

*-----------------------------------------------------------------------------------------------------------*

sort bc time

by bc: generate caprcurisk=caprthree*curisk
sort bc time

by bc: generate caprfiscal=caprthree*fiscal

sort bc time

by bc: generate caprmervalnb=caprthree*mervalnb
sort bc time

by bc: generate liqcurisk=liqthree*curisk
sort bc time

by bc: generate liqfiscal=liqthree*fiscal

sort bc time

by bc: generate liqmervalnb=liqthree*mervalnb
sort bc time

by bc: generate profitcurisk=profitthree*curisk
sort bc time

by bc: generate profitfiscal=profitthree*fiscal

sort bc time

by bc: generate profitmervalnb=profitthree*mervalnb
sort bc time

by bc: generate ngovbcurisk=ngovbthree*curisk
sort bc time

by bc: generate ngovbfiscal=ngovbthree*fiscal

sort bc time

by bc: generate ngovbmervalnb=ngovbthree*mervalnb
sort bc time

by bc: generate npllcurisk=npllthree*curisk
sort bc time

by bc: generate npllfiscal=npllthree*fiscal

sort bc time

by bc: generate npllmervalnb=npllthree*mervalnb
sort bc time

by bc: generate fddcurisk=fddthree*curisk
sort bc time

by bc: generate fddfiscal=fddthree*fiscal

sort bc time

by bc: generate fddmervalnb=fddthree*mervalnb
sort bc time

by bc: generate fpcurisk=fpthree*curisk
sort bc time

by bc: generate fpfiscal=fpthree*fiscal

sort bc time

by bc: generate fpmervalnb=fpthree*mervalnb
sort bc time

by bc: generate fplcurisk=fplthree*curisk
sort bc time

by bc: generate fplfiscal=fplthree*fiscal

sort bc time

by bc: generate fplmervalnb=fplthree*mervalnb

*-----------------------------------------------------------------------------------------------------------*
* Deposit growth regressions including the interaction terms *

*-----------------------------------------------------------------------------------------------------------*
xtreg agdep caprthree liqthree profitthree ngovbthree npllthree size curisk fiscal mervalnb caprcurisk caprfiscal caprmervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01, i(bc)fe
reg agdep caprthree liqthree profitthree ngovbthree npllthree size foreign private curisk fiscal mervalnb caprcurisk caprfiscal caprmervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01
local r2_f1interactolsagdep = e(r2)
display `r2_nfolsagdep'/`r2_f1interactolsagdep'
xtreg agdep caprthree liqthree profitthree ngovbthree npllthree size curisk fiscal mervalnb liqcurisk liqfiscal liqmervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01, i(bc)fe
reg agdep caprthree liqthree profitthree ngovbthree npllthree size foreign private curisk fiscal mervalnb liqcurisk liqfiscal liqmervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01
local r2_f2interactolsagdep = e(r2)
display `r2_nfolsagdep'/`r2_f2interactolsagdep'
xtreg agdep caprthree liqthree profitthree ngovbthree npllthree size foreign private curisk fiscal mervalnb profitcurisk profitfiscal profitmervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01, i(bc)fe
reg agdep caprthree liqthree profitthree ngovbthree npllthree size curisk fiscal mervalnb profitcurisk profitfiscal profitmervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01
local r2_f3interactolsagdep = e(r2)
display `r2_nfolsagdep'/`r2_f3interactolsagdep'
xtreg agdep caprthree liqthree profitthree ngovbthree npllthree size curisk fiscal mervalnb ngovbcurisk ngovbfiscal ngovbmervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01, i(bc)fe
reg agdep caprthree liqthree profitthree ngovbthree npllthree size foreign private curisk fiscal mervalnb ngovbcurisk ngovbfiscal ngovbmervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01
local r2_f4interactolsagdep = e(r2)
display `r2_nfolsagdep'/`r2_f4interactolsagdep'
xtreg agdep caprthree liqthree profitthree ngovbthree npllthree size curisk fiscal mervalnb npllcurisk npllfiscal npllmervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01, i(bc)fe
reg agdep caprthree liqthree profitthree ngovbthree npllthree size foreign private curisk fiscal mervalnb npllcurisk npllfiscal npllmervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01
local r2_f5interactolsagdep = e(r2)
display `r2_nfolsagdep'/`r2_f5interactolsagdep'
xtreg agdep caprthree liqthree profitthree ngovbthree npllthree fddthree size curisk fiscal mervalnb fddcurisk fddfiscal fddmervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01, i(bc)fe
reg agdep caprthree liqthree profitthree ngovbthree npllthree fddthree size foreign private curisk fiscal mervalnb fddcurisk fddfiscal fddmervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01
local r2_f6interactolsagdep = e(r2)
display `r2_nfolsagdep'/`r2_f6interactolsagdep'
xtreg agdep caprthree liqthree profitthree ngovbthree npllthree fplthree size curisk fiscal mervalnb fplcurisk fplfiscal fplmervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01, i(bc)fe
reg agdep caprthree liqthree profitthree ngovbthree npllthree fplthree size foreign private curisk fiscal mervalnb fplcurisk fplfiscal fplmervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01
local r2_f7interactolsagdep = e(r2)
display `r2_nfolsagdep'/`r2_f7interactolsagdep'
xtreg agdep caprthree liqthree profitthree ngovbthree npllthree fpthree size foreign private curisk fiscal mervalnb fpcurisk fpfiscal fpmervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01, i(bc)fe
reg agdep caprthree liqthree profitthree ngovbthree npllthree fpthree size foreign private curisk fiscal mervalnb fpcurisk fpfiscal fpmervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01
local r2_f8interactolsagdep = e(r2)
display `r2_nfolsagdep'/`r2_f8interactolsagdep'
*---------------------------------------------------------------------------------------------------------*

* Table 12 Regressions *
* Real Deposit Interest Rates as a Function of Fundamentals, Other Bank Characteristics,  *

* and Macroeconomic Variables
*---------------------------------------------------------------------------------------------------------*
* First,  run a “Non-fundamental” OLS regression in order to calculate the contribution of *

* fundamentals to explanatory power *
reg depr size foreign private curisk fiscal mervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01

* Define r2 for the “Non-fundamental” OLS regression *

local r2_nfolsdepr = e(r2)
*-----------------------------------------------------------------------------------------------------------*
* Real interest rate regressions *

*-----------------------------------------------------------------------------------------------------------*
xtreg depr caprthree liqthree profitthree ngovbthree npllthree size curisk fiscal mervalnb if depr<0.041 & liqthree<0.8 & fddthree<1 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01, i(bc)fe
test caprthree liqthree profitthree ngovbthree npllthree

reg depr caprthree liqthree profitthree ngovbthree npllthree size foreign private curisk fiscal mervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01
local r2_f1olsdepr = e(r2)
display `r2_nfolsdepr'/`r2_f1olsdepr'
xtreg depr caprthree liqthree profitthree ngovbthree npllthree fddthree size curisk fiscal mervalnb if depr<0.041 & liqthree<0.8 & fddthree<1 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01, i(bc)fe
test caprthree liqthree profitthree ngovbthree npllthree fddthree

reg depr caprthree liqthree profitthree ngovbthree npllthree fddthree size foreign private curisk fiscal mervalnb if depr<0.041 & liqthree<0.8 & fddthree<1 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01
local r2_f2olsdepr = e(r2)
display `r2_nfolsdepr'/`r2_f2olsdepr'
xtreg depr caprthree liqthree profitthree ngovbthree npllthree fpthree size curisk fiscal mervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & fpthree<0.8 & fpthree>-0.8 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01, i(bc)fe
test caprthree liqthree profitthree ngovbthree npllthree fpthree

reg depr caprthree liqthree profitthree ngovbthree npllthree fpthree size foreign private curisk fiscal mervalnb if depr<0.041 & liqthree<0.8 & capr>0.01 & fpthree<0.8 & fpthree>-0.8 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01
local r2_f3olsdepr = e(r2)
display `r2_nfolsdepr'/`r2_f3olsdepr'
xtreg depr caprthree liqthree profitthree ngovbthree npllthree fplthree size curisk fiscal mervalnb if depr<0.041 & liqthree<0.8 & fplthree<1 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01, i(bc)fe
test caprthree liqthree profitthree ngovbthree npllthree fplthree

reg depr caprthree liqthree profitthree ngovbthree fplthree npllthree size foreign private curisk fiscal mervalnb if depr<0.041 & liqthree<0.8 & fplthree<1 & capr>0.01 & caprthree>0.01 & agdep>-0.5 & agdep<0.5 & npllthree<1.01
local r2_f4olsdepr = e(r2)
display `r2_nfolsdepr'/`r2_f4olsdepr'
*-----------------------------------------------------------------------------------------------------------*
*-----------------------------------------------------------------------------------------------------------*

